Ex 4

€q. eonoflon vhice 9(9-4' NGt =2
Sdurond M= == D=3

X’L~3‘>0 G"") k<h\ﬁ; v \> +E
o ,X % X
\3(&\ + e R
X4 i Xz n,oudid mall a ARnk

\"_ 2 <0 = -3¢ <3
2 o wadaar complisse CW%PE

\akx\: (Cimk\r_—):x)-(—c Sem \;3 A% % >>
}mpwua/m & eond. an Qo

éT
)—5:01 ¢ =9 =

Cdp_ -&-Cze, = O

3¢ ?‘0 ammdl sclo Qo sdluron %(X)EO



L
A =80 ¢+ Co —O
ﬁll\ N?_
c,e +C, 2 =0

wokoda.  ossocioko ¢ A 4 '
_,Qf‘" ,Q-O(L

duk
bungue anc. tn qurho  oro & ¢ =C2=0

N o N
e 0 quoalo  Xq=* Xe

'y ukLX\EO
)xl— 2O Coy = S
4 e
- gm\b-\z =0
@) s N 3—)\%
o L
= -\ = et &= 3—%: \(:LTF
(:.> )\'2_ et 3’— \(112



A

{
S A+Y
%

C.
S Ixl +

\ = QD%\'H—-% - Q,q:%)

4 Qo |4y

1 \x\% i
by (A%

A=
1
ﬂ; 2: Ix\ o | keIQ
. _”(i.b&:: k x
6 2¢C s s
14—%\: - -
T A+ kx©




o) =g~y ye [-2,.00

d \
;—\k ' 2\6‘* ome Sop
;E(x‘-x-a): 3‘;&2{-(?)({-6 Xxe [-3.9)
d ~2
T ¢ X+ >0 ® Xz-35




A (~30) &(o -2) o (0,0)

(-3e) T(ocd) 6(h-3

(P =1

£(A)= LB =56 mg;g =
Pl JOF) =t E

18 )= ~2

Ex |

dok (ia *3>= =G0

;:'\ | g (x\%\: (U\(KL%S\\J(KL&&)> i oM (MSWMO
K (o) G (20)=(1,1)

ot [ TEE, R -
Jocg @V = ~[Joc F 1T Joe & (o) =



;_(_3——%'“10 i(43
- A A o 4 /)7 61 -3

Ex5

OccdBU omdun. £ im mob duspd sy L2007

Y

A 2

ad, =0 \ok:j; xs‘m(ﬁ_z\ﬁyx » {@-0 an\,(_li_\{_)ﬁ>éx
1

S B

7, [H S ()] s

k=1
it ds Fonier oneagt Wrillomadds  a joo VxeR.

I

POL' Ry Ndo l\a \ _If'— Con Z e Convep

"5@“‘7, M he andil cond. ol (xR,






=> .2. oW & c&segeg‘ \n Co@)

z
Xk%l

- M l%\z s

Se \())70

SCJ?.Q%O U imbooe du (O(’l> dowe 420
’U
VeonksiTs 3€€' Qi(U> C non evndscs & Nalery
stohdo)
L uuls asseure Oa oll%emn’c{al/a{u‘«? w
/V“/l Mdﬂ\i \n Colft\_

7



